Forelasning 5

Trigonometriska intergaler



: ?
*I—riqome‘t'r\"skq M’%r«ler QK+ = |
r -

i - 03 : . 2 _ . = CosX
M. J,Sw xdx = J.swfx-atuxdx -.-J(L-Cos X))/ i ak = b e shucde
&Szu".o\=(0‘)?(1, l’ =_J(|-uz)du = —Jdm !.lzdu = - +.%E — - (B’ + CQ&%’L +C
EXE!J!EB! 2. J(SIU.-SK 0(62)( dx ___‘S(‘_UB%)Z SiuX- szQC _ u=c@x’.

’\‘ , T C'U=-St‘uxd’x

Siu®x =(&'u.%<)2~ 3K _ _J ) W dy. = —J(H?Uz* W etdu -

/(108 Sixx j(u X G)du _..(Qf-,glf u*? (@l 25 x

5
0657x

EM J&M xdx = _S “C‘DQK dx _.....‘de -LJCGSQKJK-— - l )

3\\1 K= |-Cosdx %QK 'Qd’;’-'__. d’t/?\ 1[00;( at _ X -% = SN-QR +C



T/,
M; 58@’% ofx dx =
0

: : Z
Sindx = J3wr (8% (D 3u’x 005X _—_(&QKQQSK)Z:(SH;QX )‘2 _ (3:—?&)‘:{'__ l_COELn(
B = \los V2 1 .-

SWX = |

L &«Zﬂtﬁﬂ?ﬁd?( = l" ('D5"“C _ __\_ d\K" q -
(k= e dx :,S é < dx % ( i é (03 de)—

. S G I R L o

Cos2x = log'x - S’ =50 sl = = (surTosuor-o)

. - (082 ) 2
@ sivlr k= ! fﬁg_x. l«chQsc _ LCB;QX) (7)




Exewpd S J Simx tesdx dx = j —'-Q(Si%(—ﬂxh SATY) L {simkdx + :?ljsfu Vixkx

T2
Suh b= ’% (S\'u(l\—Q : Siu(A«%)) =4 _3?- -% Cos2x - ‘1?- 1{] eoslYx =
S’wl\siuﬁz = -\-L-Icong _% slux + C
CosP Cos® =
| ERRER L4t
BSIUQK&K—\dt=2dK ,&K= ‘dit'\ :‘SSIUt-—i— =

I _ L oy
-?‘SS(L!‘tdt = 2('05t ——‘ECO%QK-\- C

S = 40| < - L ok 4



Exawpd 6 (sidaw 485 , Upepift s5). =1 S R dx aeuowsuﬂ\. Wd?e

B o

i - | o Ruuk‘nou 2R
- % (" st oos’x dx ndernidr Ta, 6]
=
(oxewpd 2) ( :Q aiutt =of0l-sust)
= 0°Ca8?t

Tﬁhouowef ok subshitubiot, Costx = |- Sin’x

x=gsivt , dx=00cstdt
LK@wPG')Y \S Q&-xz O\K = |X=0,asiu{ =0 =t=0
x=Q, Asiul -,G( >'t-T

...S st - acost AU = Q5 Cftdt = a?j /I—wos?t dt =
= sz &dt & ff Cothdt ~ azu %Sth |o _ @qi‘

Vot = |acstl ~acost

J
j 0% %t acetdt

0




E_)-(QMPQQ_&‘

: + =0, 4k = -Oxdx | % o
§ 2_ N Q% | ot .
\Ef 05-x2 CLK = ]K-‘-Olt:Qz ‘,X-G,t=O _Z(;gﬁdt ==z @/;‘ ,0\2- 6{ \Z
TN
. --3(0-@Y)-4
(/2

r=0sint | dx= acost dt

X=0 05wt =0 = t=0

()
@ [x\edx -
0 - -
)RZO,A%S\\(t =ﬂ1 =) 't:.%

= 5a3iut-0009’(-0005{' dt —

@)

W2 U=Cost dy=-gitdt
:0\3(5 6\\1t(’ﬁa)2tdt '—*\_‘:___Olu,;\;.k:'l_g‘ -0 =

0]
0, 2 3u3 0 <
! 5 =3



Exeupd 8- JWG\X=\>< st , -Bete ¥y \=

o\x-Costc&t
ot e - [ ot o de - [ gt
&t Siult B Sw‘t )
_ [ oa-swtt
- t =
‘3 Swit d JS\U"”( 56& = -Gkt -t =

= -Q_‘XE — CSXAC



